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General Instructions/ lkekU; funsZ’k % 

 1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, 

Faculty and  Name of the Subject on the OMR  Answer Sheet in the space Provided. Put 

Your Full Signature  on the OMR Answer Sheet in the  space Provided.  

vki viuk uke] jkSy dksM] vuqØekad] iath;u la[;k] ijh{kk dh frfFk] 
ikyh] foHkkx rFkk fo"k; dk uke OMR mÙkj i=d esa nh xbZ txg ij fy[ksaA 
vki viuk iwjk gLrk{kj OMR mÙkj i=d esa nh xbZ txg ij djsaA  

2. There are 40 Multiple Choice Questions in all. 

dqy 40 cgq&fodYih; ç’u gSaA 
3. All questions are Compulsory. Each question carries 1 mark. 

lHkh ç’u vfuok;Z gSaA çR;sd ç’u 1 vad dk gSA 

4-Four Options are given for each question. Choose the most suitable option and indicate 

it by blackening the appropriate circle [   ] in the OMR Answer Sheet given separately. 

Use only Blue/Black Ball-Point Pen. The use of Pencil is not allowed. 

çR;sd ç’u esa pkj fodYi fn;s x;s gSaA buesa ls lcls mi;qDr fodYi 
pqudj mls vyx ls fn;s gq, OMR mÙkj i=d ij lgh xksys dks dkyk dj  
[    ] mÙkj dks lwfpr dhft;sA uhyk ;k dkyk ckWy&IokbaV dye dk gh ç;ksx 
djsaA  isafly dk  ç;ksx oftZr gSA 

5. Before leaving the examination hall hand over the OMR Answer sheet to the 

invigilator. You are allowed to take the question paper with you. 

ijh{kk Hkou NksM+us ls igys OMR mÙkj i=d oh{kd dks ykSVk nhft;sA 
ç’u&i= vki vius lkFk ys tk ldrs gSaA  
 

 

 

    

 

 

 

 

 

 

 

 

 

Adhere to the instructions above very carefully otherwise your OMR Answer 

Sheet will be invalid and will not be evaluated. 

 Åij of.kZr funsZ’kksa dk /;kuiwoZd ikyu dhft, vU;Fkk vkidk 
mÙkj i=d vekU; gksxk vkSj mldh tk¡p ugha dh tk;sxhA  

Full Marks : 40 
Time – 1 hr 
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1. Which one is incorrect : 

a) Flower is a modified stem  

b) Fruit of coconut is called drupe  

c) Onion belongs to family liliaceae  

d) Nodes are present on stem   

fuEufyf[kr esa ls dkSu lk okD; vlR; gS % 
a) Qwy ,d :ikarfjr ruk gS  
b) ukfj;y ds Qy dks Mªwi dgrs gSaA  
c) I;kt fyfy,lh dqy dk ikS/kk gSA  
d) ioZlaf/k ruk ij ik;k tkrk gSA   

2. Which is the ‘amphibians of plant kingdom: 

a) Spirogyra      b) Bryophyta  

c) Pteridophyta    d) All    

buesa ls fdls ^,fEQfc;u vkWQ ikni fdaxMe* dgk tkrk gS % 
a) Likbjksxkbjk    b) czk;ksQkbVk  
c) VsfjMksQkbVk    d) lHkh   

3. The Protein Part of an enzyme is : 

a) Proenyme     b) Coenzyme 

c) Apoenzyme   d) None 

,atkbe ds çksVhu okys Hkkx dks dgk tkrk gS % 
a) çks,atkbe    b) dks,atkbe  

c) ,iksbatkbe   d) buesa ls dksbZ ugha 
4. The Father of Taxonomy’ is : 

a) Mendel     b) Bentham 

c) Hooker    d) Linneaus 

buesa ls fdls ^Qknj vkWQ VSDlksukseh* dgk tkrk gS % 
a) esaMy     b) csaFke  

c) gwdj    d) fyfu;l  

5. The hanging root from the banyan tree is called : 

a) Pneumatophores     b) Stilt root 

c) Proproot     d) Bulters root    

cjxn ds isM+ ls yVdh eksVh tM+ksa dks dgrs gSa % 
a) U;weSVksQksj    b) voLraHk tM+  
c) LraHk tM+    d) oç ewy 

6. Transport of water in symplast pathway takes place through :  

a) Cytoplasm     b) cell wall 

c) Both (a) & (b)   d) None   

fleIykfLVd xfr ds nkSjku --------------- ds }kjk ty dk ifjogu gksrk gS % 
a) dksf’kdk æO;   b) dksf’kdk fHkfÙk 
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c)  (a)  vkSj ¼ b½ nksuksa  d) buesa ls dksbZ ugha 
7. Incomplete oxidation of glucose in anaerobic respiration forms : 

a) Glucose & CO2   b) H2O & CO2 

c) Fructose & H2O   d) Alcohol & CO2    

vukWDlh’olu esa Xywdkst ds viw.kZ fo?kVu ds QyLo:i curk gS % 
a) Xywdkst ,oa CO2  b) H2O ,oa CO2 

c) ÝDVkst ,oa H2O  d) ,sYdksgkWy ,oa CO2 

8. Kranz Anatomy is found in: 

a) C3 Plants    b) C4 Plants 

c) C5 Plants    d) All Plants 

Øst 'kkjhfjdh fdl çdkj ds ikS/ksa esa ikbZ tkrh gS %  
a)  C3ikS/kksa esa   b) C4ikS/kksa esa 
c)  C5ikS/kksa esa   d) lHkh ikS/kksa esa 

9. The microbe (bacteria) found in the roots of leguminous plants is : 

a) Rhizobium     b) Nitrobacter  

c) Nitrosomonas   d) Pseudomonas  

nyguh ikS/kksa ds tM+ksa esa dkSu ls thok.kq ik, tkrs gS % 
a) jkbtksfc;e   b) ukbVªkscSDVj 
c) ukbVªkslkseksul   d) L;wMkseksul 

10. The age of a tree is determined by : 

a) Counting its leaves   b) Measuring its width  

c) Counting the annual rings  d) Counting its branches  

fdlh o{̀k dh mez tkuus dh vPNh fof/k gS % 
a) ifÙk;ksa dh la[;k fxudj  b) bldk O;kl ukidj 
c)  okf"kZd oy; dh x.kuk djds  d) 'kk[kkvksa dh la[;k fxudj 

11. In racemose inflorescence, the smallest flower is : 

a) At the Top    b) At the bottom 

c) In the middle    d) Anywhere  

jsflekst iq"iØe esa lcls NksVk Qwy lcls % 
a) Åij jgrk gS   b) uhps jgrk gS 
c)  e/; esa jgrk gS  d) dgha Hkh gks ldrk gS 

12. The Process by which water is supplied to the plant: 

a) Imbibition     b) Osmosis  

c) Diffusion     d) Guttation   

ikS/kksa esa ikuh dh vkiwfrZ fdl fØ;k }kjk gksrh gS % 
a) var% 'kks"k.k   b) ijklj.k 
c)  folj.k    d) fcUnwlzko 

13. Where does kreb’s cycle occur : 

a) Cytoplasm    b) Mitochondria  

c) Chloroplast    d) Lysosome  

ØsCl pØ dgk¡ gksrk gS % 
a) dkssf’kdkæO; esa    b) ekbVksdkWf.Mª;k esa 
c)  DyksjksIykLV esa   d) ykbtkslkse esa 
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14. Gibberllin was first discovered in : 

a) Algae      b) Fungi  

c) Bacteria     d) Angiosperms 

ftcjsfyal dk loZçFke vkfo"dkj gqvk Fkk % 
a) 'kSokyksa ls    b) dodksa ls  

c)  thok.kqvksa ls   d) vko`rohft;ksa ls  

15. Calvin cycle :  

a) Depends on light    b) Does not depend on light 

c) Occurs  only in light  d) Occurs only in dark 

dkyfou pØ % 
a) çdk’k ij fuHkZj djrk gS  b) çdk’k ij fuHkZj ugha djrk gS 
c)  dsoy çdk’k esa gh gksrk gS  d) dsoy va/kjs esa gh gksrk gS 

16. The main constituent of chlorophyll is : 

a) Ca     b) Mg 

c) Mn     d) N 

buesa ls dkSu rRo DyksjksfQy dh lajpuk dk ,d ?kVd gS % 
a) Ca     b) Mg 

c) Mn     d) N 

17. Crossing over occurs in: 

a) Leptotene     b) Zygotene  

c) Pachytene     d) Diplotene 

ikjxfr fdl voLFkk esa gksrk gS % 
a) ysIVksVhu    b) tkbxksVhu 

c)  iSdhVhu    d) fMiyksVhu 

18. The type of vascular bundle, in which xylem is present on both side of phloem is called  

as : 

a) Radial     b) Collateral  

c) Bicollateral    d) Amphioribal  

og laogu&caMy] fuesa tkbye ds nksuksa vksj ¶yks,e ik;k tkrk gS] dks D;k 
dgk tkrk gS % 
a) vjh;    b) cfg% iks"kokgh 
c)  mHk;iks"kokgh   d) tkbye dsaæh 

19. Protein Synthesis is related to : 

a) Nucleus     b) Ribosome  

c) Chromatin    d) Plasmalemma  

çksVhu la’ys"k.k ls lac) gS % 
a) dsUæd    b) jkbckslkse 

c)  ØksesfVu    d) dksf’kdk f>Yyh 
20. The two names of ‘Binomial Nomenclature’ is:  

a) Genus  & Species   b) Genus & Order  

c) Genus & Family     d) Genus & Class  

^f}in& uke&i)fr* esa dkSu&dkSu ls nks uke gksrs gSa% 
a) thul vkSj Lih’kht  b) thul vkSj vkWMZj 
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c)  thul vkSj QSfefy  d) thul vkSj Dykl 

21. Division of nucleus is called as :  

a) Cytokinesis     b) Crossing over  

c) Karyokinesis    d) Pachytene  

dsUæd ds foHkktu dks dgrs gS % 
a) lkbVksfdusfll   b) ØkWflax vksoj 
c)  dSfj;ksfdufll   d) iSdhVhu 

22. Emphysema is a disorder related to : 

a) Respiration    b) Circulation  

c) Digestion     d) Exertion  

okrLQhfr jksx fdlls lacaf/kr gS % 
a) 'olu    b) ifjogu 

c)  ikpu    d) mRltZu 

23. Water vascular System is characteristic of Phylum : 

a) Porifera     b) Echinodermata  

c) Annelida    d) Chordata  

ty&lapkyu ra= fdl la?k ds tarqvksa dk y{k.k gS % 
a) iksfjQsjk    b) ,dkbuksMesZVk 
c)  ,ausfyMk    d) dkWMsZVk 

24. Internal Ear is filled with  

a) Perilymph     b) Endolymph 

c) Blood     d) Lymph 

var% d.kZ Hkjk jgrk gS % 
a) ifjyfldk ls   b) var% yfldk ls  

c)  :f/kj ls    d) fyEQ ls 
25. The structural & functional unit of kidney is : 

a) Nephridia    b) Neuron 

c) Nephron    d) None 

o`̀Dd dh jpukRed ,oa fØ;kRed bdkbZ gS % 
a) usÝhfM;k    b) U;wjkWu 

c)  usÝku    d) buesa ls dksbZ ugha 
26. Pace-maker is : 

a) SA node     b) AV node 

c) Bundle of His    d) Purkinje’s fibre   

isl esdj dks dgrs gS % 
a) S-A uksM    b) AV uksM 

c)  fgat dk caMy   d) iqjfdats&rarq 
27. How many times a cell cell will divide mitotically to produce  256 cells? 

a) 8     b) 32 

c) 64     d) 225 

,d dksf’kdk ds ekbVksfll }kjk fdrus foHkktu ls 256 dksf’kdk,¡ cusaxh\ 
a) 8     b) 32 

c) 64     d) 225 
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28. Carbohydrate digesting enzyme is : 

a) Nuclease     b) Lipase  

c) Amylase     d) Trypsin 

dkcksZgkbMªsV ikpd ,atkbe gS % 
a) U;wfDy,t    b) ykbist 

c)  ,ekbyst    d) isfVlu 

29. Synthesis of DNA occurs in : 

a) S – Phase     b) G1 – Phase  

c)  G2 Phase     d) M- Phase 

 DNA  dk la’ys"k.k gksrk gS % 
a)  S –  voLFkk esa   b) G1 –  voLFkk esa 
c)  G2  voLFkk esa   d)  M -  voLFkk esa 

30. Epinephrine and Nor-Epinephrine is also called as :  

a) Life saving hormone   b) Growth hormone 

c) Emergency hormone  d) Sex hormone 

,fiusfÝu ,oa ukWj,fiusfÝu dks dgrs gSa % 
a) thou&cpko gkeksZu  b) o`f) gkeksZu 

c)  vkirdkyhu gkeksZu  d) fyax gkeksZu 
31. Large Brain is : 

a) Cerebrum     b) Medulla 

c) cerebellum    d) Diencephalon  

c`gr efLr"d dgrs gSa % 
a) lsjhcze dks   b) esMqyk dks  

c)  lsjhcsye    d) MkbjulsQykWu dks 
32. Cellulose is a polymer of : 

a) Fatty Acid    b) Amino Acid 

c) Glucose     d) Sucrose  

fdlds v.kq dh ckjackjrk ls lsY;wykst curk gS% 
a) QSVh vEy   b) ,sehuks vEy 

c)  Xywdkst    d) lqØkst 

33. 7OS ribosome is found in : 

a) Eukaryotes    b) Prokaryotes  

c) All organisms    d) Only Animals  

7OS jkbckslkse ik;k tkrk gS % 
a) ;wdSfj;ksV esa   b) çksdSfj;ksV esa 
c)  lHkh thoksa esa   d) flQZ tarqvksa esa 

34. Ball & Socket joint is present in : 

a) Knee     b) Elbow 

c) Shoulder     d) None 

dsanwd&[kfYydk laf/k ik;k tkrk gS % 
a) ?kqVus esa    b) dsgquh esa 
c)  da/ks esa    d) fdlh esa Hkh ugha 
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35. Uricotelic Organism is : 

a) Insects     b) Lizard  

c) Birds    d) All 

;wfjdksVsfyd tarq gS % 
a) dhV     b) fNidyh 
c)  i{kh     d) lHkh 

36. In human heart, tricuspid valve is found between : 

a) Right atria & right ventricle   b) Left atria and left ventricle  

c) Both (a) and (b)   d) None of these  

ekuo àn; esa f=nyh dikV ik;k tkrk gS % 
a) nk;k¡ vfyan vkSj nk;k¡ fuy; b) ck;k¡ vfyan vkSj ck;k¡ fuy; 

c)  (a) vkSj (b) nksuksa esa   d) buesa ls fdlh esa Hkh ugha 
37. Cartilage is a : 

a) Nervous tissue    b) Epithelial tissue 

c) Muscular tissue    d) Connective tissue  

mikfLFk gS % 
a) raf=dk mÙkd   b) midyk mÙkd 

c)  is’kh mÙkd   d) la;ksxh mÙkd 

38. Warm-blooded animals are: 

a) Pisces    b) Amphibians  

c) Reptilians     d) Aves  

fu;rrkih tarq gS % 
a) is’khp    b) mHkppj 
c)  jsIVhfy;k    d) ,oht  

39. Full form of ADH : 

a) Adenosine dehydrogenase  b) Adenohypophysis 

c) Antidiuretic Hormone   d) None of these 

,0Mh0 ,p gS % 
a) ,Mhukslh fMgkbMªkstsust  b) ,MhuksgkbiksQkbfll 

c)  ,UVhMkb;wjsfVd gkeksZu  d) buesa ls dksbZ ugha 
40. In earthworm, nephridia are  : 

a) Secretary organs   b) Excretory organs  

c) Sensory organs   d) Stimulatory organ   

dsapqvk esa uksfÝfM;k gS % 
a) lkczh vax    b) mRlthZ vax 

c)  xzg.k’khy vax   d) mÙkstd vax 
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ANSWER SHEET 
 

Que. Ans. Que. Ans. Que. Ans. Que. Ans. 

1 - A 11 - A 21 - C 31 - A 

2 - B 12 - B 22 - A 32 - C 

3 - C 13 - B 23 - B 33 - B 

4 - D 14 - B 24 - B 34 - C 

5 - C 15 - B 25 - C 35 - D 

6 - A 16 - B 26 - A 36 - A 

7 - D 17 - C 27 - A 37 - D 

8 - B 18 - C 28 - C 38 - D 

9 - A 19 - B 29 - A 39 - C 

10 - C 20 - A 30 - C 40 - B 
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